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[Ter & Question|

EE Mixed numbers (cont)
18[11]3 Correct response Additional guidance
clefe|2m| 4  Answer given as a fraction

s
i
T
L@
i
! Follow through

For 2m or Im, accept their (b) + 5 provided
their (b) is a positive integer

1m | Shows a complete correct method with not X Conceptual error
more than one computational error g

e =

it c20es-4
[ S w5
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rier & Question

e Equations

17)12]5 Correct response Additional guidance

im| 4 x 12

1m | 75 or cquivalent v
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Fractions

T Correct response Rddrional gudance |

% or equivalent fraction ! Decimals used

For L, accept 0.3 or better

For L, accepe 0.58, 0.583(..)
. [E]

Z- or equivalent fracion

For 1., accept 0.17, 0.16, 0.166(

1
L or equivalent fraction
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Thinking fractions

Correct response.

Additional guidance

Shows the fraction 33 or other unsimplificd

but correct fraction
% a0

300
or
Shows correct cancellng to 3 x 3, even if
there are subsequent conceptual errors

Shows or implies a correct method using
fractions with not more than one
computational error, and with their fraction
given in ts

Shows or implies a correct method using
decimals
LT}

5
= 0.83 recurring x 0.6

 For 2m, decimal fraction of 0.5

x Conceptual error
Wi 8 B

TEXSTRCT
(numerators added)
5,31

et
(denominators added)

x Decimal rounded

8
* 0.83x06
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Thinking fractions (cont)

Correct response

Additional guidance

%mtqnnzlmfnmunu&nm.l

Shows or implies that the fractions should be
multiplied, even if there are subsequent
conceptual or computational errors

Shows a complete correct method involving
finding fractions of an arbitrary amount, with
ot more than one computational error

8
o 301002580, 3 of 802 60,s01tis

60 out of 100
@ 3%20215,4 %1523 (erron) so ies
0 "3 b

x The use of ‘of” to imply multiplication

Sae
%5
As the phrase is suggested by the question,
do not accept as the only evidence

x Incomplete method
To be complete, their final answer must
show the connection between the arbitrary
amount and the calculated value
eg, do not aceept

+ 40100 = 50, 3 of 80 = 60 without

subsequent expression of 60 out of 100
or equivalent
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[rer & Queston

o]

1)

Correct response

Additional guidance

Indicates all three correct values, ie

Orange
Cranberry

Grape

Gives a correct value for cranberry or grape,
with no evidence, seen or implied, of an
incorrect method for this value

or

Gives the correct value for orange and shows
working indicating that one of the other
amounts should be multiplied by 1.5

For each type of juice, shows the correct
amount to be added
e
S5
"ren

 Equivalent fractions or decimals

% Incorrect method shown or implied
Y
added to each)

(L added to each)

1
3
2
s

1
3
1

0

Unconventional notation
For 1m, condone

eg, for % accept

15
“

Decimals rounded within working
For 1m, accept % rounded to 0.33 or better

and £ rounded to 0.17 or 0.166 or better
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Thinking fractions
Additional guidance

bu correct fraction
, 450
900
or
Shows correct cancelling to % xJoevenif

there are subsequent conceprual errors
&

Shows or implies a correct method using
fractions with not more than one
computational eror, and with their fraction
given in its simplest form

Shows or implies a correct method using
decimals

o 0.83 recurring x 0.6

 For 2m, decimal fraction of 0.5

@
. 083x06
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Thinking fractions (cont)

Correct response

Additional guidance

% or equivalent fraction or decimal

Shows or implies that the fractions should be
multiplied, even if there are subsequent
conceptual or computational errors

e

Shows a complete correct method involving
finding fractions of an arbitrary amount, with
not more than one computational error

e
- =80, 2 of 80 = 60, s0 itis
= 50 100= 80, 3 0f 80 = 60, so it

60 out of 100

320215, % 415 = 3 ferrom) so its &
= 3x20=15, 31523 erron soies

X The use of ‘of” to imply multiplication
e
P
%3
As the phrase is suggested by the question,
do not accept as the only evidence

X Incomplete method
To be complete, their final answer must
show the connection between the arbitrary
amount and the calculated value
eg, do not accept

+ 4 0£100 = 80, 2 of 80 = 60 without
5 I

subsequent expression of 60 out of 100
or equivalent
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Juice

Correct response

Additional guidance

m

Indicates all three correct values, ie

Orange

3
T
1

Cranberry,

Grape

Gives a correct value for cranberry or grape,
with no evidence, seen or implied, of an
incorrect method for this value

Gives the correct value for orange and shows
working indicating that one of the other
amounts should be multiplied by 1.5

e

For each type of juice, shows the correct
amount to be added
e
11
"ven

/ Equivalent fractions or decimals

% Incorrect method shown or implied

eg
* Answer of

1

* Answer of L added to each)
i

1

* Answer of (§ added to each)

! Unconventional notation
For 1m, condone

eg, for % accept
Ls

! Decimals rounded within working
For 1m, accept % rounded to 033 or better

and 1 rounded to 0.17 or 0.166 or berter
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—m Percentages
5/8[1 Correct response Additional guidance
alala im| 7 ! For the first mark, ‘out of 10’ repeated
@
‘1
Condone
im| 50

Completes the sentence correctly with two
values that are in the ratio 1 : 20
e

* loutof20

= 5 out of 100

= 0.5 outof 10

= 10 out of 200

= 2.5 out of 50

Completes the sentence correctly, in a different | ! Follow through

way from one previously credited Accept as two values in the same ratio as

their two values for the first mark, provided

their first value < their second value

eg, from their first mark as 1 out of § accept
« 2outof 10
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[rer & Question

[3-sa-e[s-7]s-o|

Dividing fractions

20]13[ 5

Correct response

Additional guidance

3m

2m

Gives the first value as 2 and
the second value as 6

Gives an incorrect or omitted first value but
correctly gives the second value as 6

Gives an incorrect first value but follows
through correctly for the second value as
their first value x 3, provided their first value is
a positive integer
8
u first value: 4
second value: 12

Gives the correct first value and shows or
implies a correct method for the second value
with not more than one computational error
g
2x3
. 3405

3

8
"IT
2

4

1
e
« Answer of % or equivalent, with no

evidence of an incorrect method

Gives an incorrect or omitted first value but
shows or implies a correct method for the
second value with not more than one
computational error

¥ For the second value $

! Eighths repeated
Accept as the final answer for the first value
eg, for the value 2 accept

5

8
Do not accept as the final answer for the
second value

eg, for the value 6 do not accept

*

8

x For 2m or 1m, conceptual error

1 For 1m, follow through
For 1m, accept follow through as the
intention to multiply their first value by 3
shown or implied
eg, accept
© first value: 2
first value: 3

second value: 13- or equivalent

4

o first value:

4
then 3 x 3 seen
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ier & Question

la-g

Sixths

1

11|

Correct response

Additional guidance

1m

Gives a correct justification

‘The most common correct justificatio

2

1 and use the known

State or imply that 3 = 5

fact that § rounds o 33%
e

= % = 1 Which is 33 to the nearest per cent

Show or imply that the percentage should be
33 by showing a more accurate percentage, or
a correct method
™ :
165 331% so it rounds to 33 not 34
= 100+6x2=3333,5033
= Double 167 is 334
® 34x3=102,buc

33x3= 99 which is closer to 100

Refer to the effect of the premature rounding,
for example by giving a possible value for % in
the range 16.5 to 16.75 inclusive, or 17.25 to
17.5 inclusive, and shows or implis the
percentage for 2 could be 33 or 35

<8

o 1f - were 16.6%, it would be 17% to the

nearest per cent, but double 16.6 is 33.2
o fcouldbe 174, bur 17.4 x2 = 34.8

1 Response contains an incorrect statement
Ignore alongside a correct response
eg, accept
+ Lis33and 10046216

 Minimally acceptable justification
i
- i3

x Incomplete justification

g
* Its 33% not 34%

 Minimally acceptable justification
L
333
100+ 6 x 2 gives 33
©34x3=102but33x3=99

! More accurate percentage rounded or
truncated

For 1, accept 33.3% or better

For . s 16.7% o 1668% o b

X Incomplete justification
@
“ 1004+ 6x2
©34x3=102 (or 33 x 3 =99)

 Minimally acceptable justification
ey
* 17% is rounded not exact, so when you
double t, you double the error
* 17 is not exact, so it could be 33 or 35

x Incomplete justification
% L rounds 017,50 2 could round 10 33
1 rounds 10,17, 50 2 could round to

* Keep adding 17 and you don't get t0 100
“17x6=102

x Incorrect justification that implies
Iypothetical values are the correct values
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[Ter & Question

a7l

Dividing fractions

20[13[ 5

Correct response

Additional guidance

3m

Gives the first value as 2 and
the second value as 6

Gives an incorrect or omitted first value but
correctly gives the second value as 6

Gives an incorrect first value but follows
through correctly for the second value as
their first value x 3, provided their first value is
a positive integer
8
u first value: 4
second value: 12

Gives the correct first value and shows o
implies a correct method for the second value
with not more than one computational error
e
2x3
" 3405

3

il
=T
2

)
6
3

« Answer of % or equivalent, with no

1
#s
g

evidence of an incorrect method

Gives an incorrect or omitted first value but
shows or implies a correct method for the
second value with not more than one
computational error

¥ For the second value $

! Eighths repeated
Accept as the final answer for the first value
eg, for the value 2 accept
3

Do not accept as the final answer for the
second value

eg, for the value 6 do not accept

£

8

x For 2m or 1m, conceptual error

! For m, follow through
For 1m, accept follow through as the
intention to multiply their first value by 3
shown or implied
eg, accept
© first value: 2
first value: 3

second value: 11 or equivalent

o first value:

g

4
then 3 x 3 seen
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Sixths

Correct response

Additional guidance

Gives a correct justification

The most common correct justifications:

1
5 and use the known

2
State o imply that 2
fact that § rounds o 33%

-
+ 2 = L s 33t the mars e cenc

Show or imply that the percentage should be
33 by showing a more accurate percentage, or
a correct method

s 331% so it rounds to 33 not 34

100+ 6x2=3333,5033
= Double 16.7 is 33.4
» 34x3 =102, but

33x3= 99 which is closer to 100

Refer to the effect of the premature rounding,
for example by giving a possible value for % in

the range 16.5 to 16.75 inclusive, or 17.25 to
17.5 inclusive, and shows o implies the

percentage for 2 could be 33 or 35

8
@ 1f - were 16.6%, it would be 17% to the

nearest per cent, but double 16.6 is 33.2
o fcouldbe 174, bur 17.4 x2 = 34.8

1 Response contains an incorrect statement
Ignore alongside a correct response
eg, accept
+ Lis33and 10046216

 Minimally acceptable justification
T4
i3

x Incomplete justification
s
* It's 33% not 34%

 Minimally acceptable justification
s
333
100+ 6 x 2 gives 33
©34x3=102but33x3=99

! More accurate percentage rounded or
truncated

For 1, accept 33.3% or better

For 1, accept 16.7% or 16.66% or better

x Incomplete justification
e
“10046x2
©34x3=102 (or 33 %3 =99)

/ Minimally acceptable justification
@
* 17% is rounded not exact, so when you
double t, you double the error
* 17 is not exact, so it could be 33 or 35

x Incomplete justfication
AT 2
+ L rounds 1017, 50 2 could round t0 33

* Keep adding 17 and you don't get t0 100
“17x6=102

x Incorrect justification that implies
Iypotbetical values are the correct values

Y
R
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Fractions

Additional guidance

1m| For cicher calculation shows, or implies by

correct answer or otherwise, a correct method
that would enable addition or subtraction of
fractions
The most common correct methods:
Show or imply correct fractions with common
denominators
eg, for the first calculation

3

. ‘i.
5
the denominator of the fraction

18
=35

= 0.6 and 0.067 seen

8
& or equivalent

X For the first and third marks, incorrect
‘notation or incorrect further working
eg, for the first mark

1

™.
g

t Throughout the question, decimal or
percentage values rounded or truncated
For 73, acceps 0.583 or bete,or percentage
quivalents
For 15, accept 0.53 or berter,or percentage
cquivalents
Fa%,mﬂ.!!whﬂl"wml‘
quivalents
For 7, accept 0.066 or 0.067 or berter, o
percentage equivalents.
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For cither calculation shows, or implics by
correct answer or otherwise, 3 correct method
that would enable addition or subtraction of
fractions

The most common correct methods:

Show or imply correct fractions with common
inators

 For the first and third marks, incorrect
otation or incorrect further working
eg, for the first mark

H
.. 1
g

! Throughout the question, decimal or
percentage values rounded or truncated

For 73, accept 0.583 or hetes, or percentage
cquivalents

For 5 , accept 0.53 or bette,or percentage
cquivalents

For § accept 0.33 or heter, or percentage
cquivalents

For 75 accept 0.066 or 0,067 or better, or
percentage cquivalents
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Tir 8 Queston

Barrels
Correct response. Additional guidance
2m | Gives all three correct fractions in their * Equivalent decimals
simplest form, ie g
3
1
3
H
H
1m | Gives any two correct fractions in their 1 For 1m, follow through

simplest form

Shows a correct first step of simplification for all
three correct fractions, even f there is incorrect
subsequent simplification

@

3
2
2
7

Accep their third fraction as their second
fraction x 2, provided all three fractions are
given in their simplest form

eg. for 1m accept

M. é_ M_
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SR |
Indicates 7 and 55, ie

v

()

()
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Tier 8 Queston

Thinking fractions

‘Additional guidance

m| 12
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Tir 8 Queston

[35Jacq

Counters

‘Additional guidance

1m | Shows or implies that half the counters are green
or that half are red or black

Shows or implies a complete correct method with
not more than one computational error

L
. 15x246
. 1543
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Ninths

Correct response ‘Additional guidance

Indicates 1%, ie

i

 Equivalent fractions

x Equivalent decimals or percentages

x Incorrect motation
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Thinking fractions

‘Additional guidance
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Tir 8 Queston

[3-5[a-e]

Counters

Additional guidance

1m | Shows or implies that half the counters are green
or that half are red or black

o

Shows or implies a complete correct method with
not more than one computational error

L
. 15x246
. 1543
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3% times table

14

1
17} or equivalent

210

‘Additional guidance

t For the second mark, follow-through
Accept as their value for the first mark + ;%

Indicates No
and
gives a correct explanation

The most common correct explanations:

Reason about odd and/or even multiples of J%

e
= 11is an odd number so you will get a
half left over

1 1
+ 2 L2150 only an even number of 315

will give a whole number

Show or imply the correct product or a
relevant portion of it

! Incorrect statement alongside a correct
explanation
Ignore
e accept

e 1 0 odd mambes 11 1

 Minimally acceptable explanation
t
“ 11is0d
« The first number needs to be even
« Al the 0dd ones are not whole numbers
« Only the even numbers are whole
numbers

x Incomplete explanation

Every other multiple is 2 whole number
Itis an odd number

Itis not an even number

10 is whole so 11 is not

¥ Minimally acceptable explanation
e

1
B

s x

* 11 x33 does not give a whole number

Tewillendina }

1
+1x33=33
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Correct response

Makes all four correct decisions, ie

increasing  decreasing  neither

4

v

Gives all four correct terms in any order

¥ Equivalent fractions

t Equivalent decimals
cept 0.25

accept 0.11 or better

1
For 7, accept 0.0625

‘Condone provided the four correct terms
have been given

' |
x Answerof 1, 4. 3. 1o
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Tier & Question

Cancelling

Correct response.

Additional guidance

1m| 20

1m | 400

Incomplete processing
Penalise only the firstoccurrence, provided
all redundan values have been cancelled
eg, for both marks
“axs
x5y
Mark 250, 1

Follow-through
For the second mark, accept the square of
their 20 evaluated
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‘Shows a complete comect method with not more

than one error

]

1000000 - 20 000 = 98 000 erro),
98000 +2 = 49 000

Prize money
Additional guidance

v €490k

X For 1m, one million taken to be 100000

o9
100000 - 20000 = 80000,
80000 + 2= 40000

X For 1m, computational error that simplifies
the division

o
1000000 20 000 = 800000,
800000 + 2 = 400000
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I Mark Correct response. Additional guidance

m 075 X Equivlent fractions

m 0575 V' Followthrough as their value for the frst
mark-0.2
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Shows orimplies a complate correct method
with not more than ane computational eror

o fis46, sois 82(error),

@ sototalis 164
« Digis 184 seen
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Correct respanse
£490000

Shows the value 980 000
or

Shows a complete correct method with not more
than one error
g
+1,000 000 - 20 000 = 98 000 (oror),
98000 + 2 = 49000

Prize money
Additional guidance

v £490k

% For 1m, one million taken to be 100 000

g
100000 - 20 000 = 80 000,
80000+ 2 = 40000

% For 1m, computational error that simplifies
the division

g
1000000 - 20 000 = 800 000,
800000 + 2 = 400 000
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e 8 Quesion

ErEm Thinking fractions

fs[11]a Correct response ‘Additional guidance

1m| 40

1m| 150

1m| 30
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T & uton

s
Mark Correct response

tm 0775

m 0575

Fortieths
Additional guidance

x Equivalent fractions

' Follow-through as their value for the first
mark - 0.2
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Correct response Additional guidance
184

Shows or implies a complete correct mathod
with not more than ane computational error

o 46+2=22(erro),
2x8=17

46, 50 § s 82 (error),
Sototal s 164
+ Digits 184 seen

Bicycles
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s Fraction size
Mark Corroct response Additional guidance

2m  Completes the three numbers correct, ie 1 For 2m or 1m, final value given as 1 or 2
2 2 0 g for2m
.2 2 1
L og.forim
2 e g o dloron 2 2
o Condone.

2 3 3

m Completes any two of the numbers cormectly
o9
5%) 3emo) 3

or

Completes the three numbers so that only one
raction s out of sequence

@ o aemon 3
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What number?

Correct response. Additional guidance
Gives a number bigger than 5 but smaller thané v Improper fraction
o9 o9

.57 .2

Gives a number bigger than 5.6 but smaller than 5%

o

o565

‘s
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Completes the three numbers 5o that only one.
fraction is out of sequence

g

LI nloron 3

Fraction size
Addtional guidance

1 For 2m or 1m, fnal value given as 1 or 2
og.for2m

&3 2 1
eg.forim

© dmo) 2 2
Condone
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T umenen.
frpeee
Mark Corroct response Additional guidance
2m  Complates the table correctly, ie v Equivalent fractions
X Equivalent decimals

Im  Complates at least two of the entries correcty
o
Shows or implies that 16 s § of the total

g
2

3
. 3-8

« There sre 2 basck inthe bag

. 0-f-b-

L-12es

@ * The sum of their two missing numbers of

beadsis8
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Gives a pair of equivalent ractions which use
5,15andone of 2,7 0r 11

Gives a pai of equivalent fractions which use.
twoof2,5,7, 11and 15

Cards for fractions.
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e & Cumaton

Mark Corract response.

m

Indicates Both the same and gives a correct
explanation
g

fxisldxd
« “OF means multply and mutplication s
commutative, e x§-3%§

S e

Use informal reasoning
b4
o 343 <tsince §>3 but +3>1 since <3
< idebed

1354
* 06666, +075

the frstis dividing by more than tself, which
produces alower number than the second

Shows § or § with no evidence of an incorrect
division

Which is greater?
‘Additional guidance

' Minimally acceptable explanation
eg
« Bothhalf

« Its muliplication so order doesn't matter
« %of} of12=63offof12-6

oy

foff for}

x Incomplete explanation

e
« Same numbers

¥ Minimally acceptable explanation

o3

© Fand§ seen

« 3 isbiggerthang so the rsts < 1 andthe
Secondis > 1

* § andreasoningwhy 3+ 3<1

© § andreasoning why 3+ 2>1
1 Decimal truncated

g

« 064075

* 075406
Condone provided general reasoning i given
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[ uesin]

Mixed numbers
Conectresporse ‘Addional gusdance
1| Gives he vato 1 o 3 or quivatenc
ractionor decmal
1 odicte the corec poiion o the mumber |+ Indication iaccurste
line, ic Accept provided the pupil’s intention is clear
|. * Follus throvgh
Acceptprovided thei icorrctvalue forthe
e dkon s hetween 0 nd 2. b s o

s
e 2 o e s e

o ;
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Ter & Queston)

Mixed numbers (cont)
‘Additional guidance

/ Ansuer given as afraction
«

Correct response

1 Follow through
For 2m or 1m, accep theie (8) + 5 provided
ther b) i a posiave nceger
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Grid percentages

Correct response.

‘Additional guidance

1 Percentage of disgram not shaded given
Provided correct percentage umhaded i

ven oty 40 v for both,
ok 00,1

Gives 8 corectexplanaton o which both | Minimally acptable explanation
«

L and the ik t0 100% are shown or implicd

P 1

s and L of 100 123

1 out of 8 s cquivalent 0 12.5 out of 100
1

«sxn2loi0

. 10058-125

$ squares i 10050 1 s
“10048

+ 100 divided by the mumber of squares
125

+ The link i 0 a diferent percentage
Accepe provided the relevant fracion is
shown or implied
e, accepe

2 squares s 25%, 1 square i half of
har

- 3 squares s S0%, 50+ 4

* Incomplete explanation
B
8 squares s 100%
« 1 square oue of § shaded.

12k
%

5
x Incomect onder of division

“llmll
et

Indicates atoal of theee squares on the

dagram
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Equations

‘Additional guidance
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Mixed numbers

Correct response

Additional guidance

tm| Gives the value 1 or 3 o equivalent
fraction or decimal
1m | Indicates the correct position on the number ! Indication inaccurate
line, ie Accept provided the pupils intention is clear
n t Follow through
Accept provided their incorrect value for the
addition is between 0 and 2, but is not an
integer
eg, from % for the first mark, accept
o :
[T S S
im| 20

/ Answer given as a fraction
g
“

3

7 Answwer repeats sixths
e





